TU-08VO

Junkkari

KAKSOISSILPPURI

VARAOSALUETTELO
RESERVDELSKATALOG

SUOMI-RUOTSI C3§



34



OSA KPL

VAR. OSA
DEL NR

0.262.0302.00
0.262.6000.00
8.4.1.00967
8.5.2.00332
8.7.3.00331
0.262.3005.00
8.0.9.00143
0.709.7500.00
0.244.7500.00
8.0.9.00128
0.262.2002.00
8.0.9.00024
8.7.1.00315
0.262.1302.00
8.1.2.00197
0.262.5000.00
0.132.7106.00
8.4.7.01111
8.6.5.00203
8.6.7.00269

HUOHOTINPROPPU

REF ST
1 1
2 1
3 1
4 2
5 2
6 1
7 2
8 2
9 1
10 1
11 1
12 1
13 1
14 1
15 6
16 1
17 1
18 1
19 2
20 1
21 4
22 4
23 3
24 12
25 2
PLAT

1

53121

53120

D52075

KOQODI
KODE

Z29 M6.9
14*9*45
85 UNI7437
45*85*10
13/8"
30209
84.7

51.5
30308

1 3/8"26
30208
35*80*10

M8*25 8.8
Z15 M6.9
M30*1.5
PIN B4*55
1/2"

1/2
PROPP

M 16

M 16*40
COMER 526
M 8*16

COMER T-22

NIMI
KULMAVAIHDE

LAATIKKO
HAMMASPYORA
KIILA
LUKKORENGAS
STEFA

AKSELI

LAAKERI
SAATOLEVY
SAATOLEVY
LAAKERI

AKSELI

LAAKERI

STEFA

KANSI

RUUVI
HAMMASPYORA
MUTTERI
SAKSISOKKA
OLJYTULPPA

JOUSIALUSLEVY
RUUVI
AKSELINSUOJA
RUUVI
LUKITUSLIUSKA

KULMAVAIHDE
KOOT

BENAMNING
VINKELVAXEL

BOX
KUGGHJUL
KIL
LASRING
STEFA
AXEL
LAGER
JUST.PLATTA
JUST.PLATTA
LAGER
AXEL
LAAKERI
STEFA
DACK
SKRUV
KUGGHJUL
MUTTER
SAXSPRINT
OLJEPROPP

BRICKA
SKRUV
SKYDD
SKRUV
LASNING

VINKELVAXEL

35



36



OSA KPL
REF ST

OCOoO~NOOUITAWN P

NFRPRRPNNNRPNRRPRPRRPRPREPNNNRPRRRPREPRERNRRERRRER

VAR. OSA
DEL NR

512320
733251
51228

733465
733285
733240
733245

D14105

733276
733280

53178

D14116

320117
53175

51281
D30000190

KOQODI
KODE

2-2946

4-9146
M16X40
4-9124
4-8851
3m
M16X35
4-9208
8X45
10X45
4X36
5mm
3-4541
3-4403
6X36

M16
M16
4-44125
3mm
4-7053

10X45

5mm
UN-50

NIMI
VETORUNKO

VETORUNKO
SANKA
LUKKOLEVY
SARANA-AKSELI
KUUSIORUUVI
NOSTOV.TAPPI

PUOMIN KIINN.TAPPI

VETOVAIJERI
KUUSIORUUVI
VETOJOUSI
RENGASSOKKA
RENGASSOKKA
SAKSISOKKA
NUTTURANEULA
SAPPI
KASIVARSI
JOUSISOKKA
VETOKOQOYSI
MUTTERI
ALUSLEVY
VETOJOUSI
NUTTURANEULA
LUKITUSTAPPI
JALKA
RENGASSOKKA
TYONTOV.TAPPI
VAIJERILUKKO
MUOVITULPPA

BENAMNWG
FASTRAM

FASTRAM
SIDOBOM
LASPLATTA
AXEL

SKRUV

TAPP

TAPP

VAJER
SKRUV
DRAGFJADER
SPRINT
SPRINT
SAXSPRINT
HARNAL
SPARRHAKE
ARM

SPRINT
DRAGTROSS
MUTTER
BRAICKA
DRAGFJARDER
HARSPRINT
LASTAPP
FOT

SPRINT
TAPP
VAJERLAS
PLASTPROPP

37






VIITE

OCOO~NOOUITAWN P

KPL
ST

PRRPRRPRRPRRPRPRPRPRPRLPNRPNONNN

PNRPRRPRPRPREPNUONRPRNRRPRRRRERREPREPRREL®WO®

VAR. OSA
DEL NR

53015
51022
53060
733087

733093
733951
160115
733955
13L200

733090

733088

A0G201514
733080
733083

720373
733036

733035
733910
D35838
53017

53019
300454

733600
733301
733016
733040
CV03L3525
733151
733086

53151

KOQODI
KODE

3*20
M 12

6*45

11 mm
8*50

A40*1.75

SPC 3/DP 200

8*12*60
M16*60 8.8

M 16 IL

M 14 1L
UCFC 209
5/8" z16
6*60
10*60

5/8" 112 rll
5/8"*3/8"

M 10 IL
M 10*55 5.8
M 10 21/11*2

M 10 IL
M 10*30 8.8

701 35/39/25
P 58-80

M 10*20

NIMI
RUNKO

SAKSISOKKA
ALUSLEVY
LISAHOLKKI

KIVISUOJA,LEVEA
KIVISUOJA ,KAPEA

KIINNITYSTANKO
JOUSISOKKA
KIIN.TAPPI

VAS.TYONTOVARSI

VALIPUTKI

OIK.TYONTOVARSI

KIIN.TAPPI
RENGASSOKKA
JOUSISOKKA
AISAN TAPPI
SEGER

KIILAHIHNAPYORA

KIILA
KUUSIORUUVI
NITTOTERA
KULUTUSHOLKKI
MUTTERI
MUTTERI
LAIPPALAAKERI
KETJUPYORA
JOUSISOKKA
JOUSISOKKA
VALIHOLKKI
RULLAKETJU

SUORALIIT.LENKKI

KETJUNKIRISTIN
MUTTERI
KIRISTYSRULLA
OHJAUSLAATTA
KUUSIORUUVI
ALUSLEVY
MUTTERI
LUKKORUUVI
RUNKO

AISA
NIITTOKELA
SIIRTORUUVI
DRYMET
KETJUPYORA
VARMISTINLEVY
KUUSIORUUVI
KYTKINLAIPPA

BENAMNING
RAM

SAXSPRINT
BRICKA
HOLK
STENSKYDD
STENSKYDD
FASTSTAV
SPRINT
TAPP
SKRUV, V.
MELLANROR
SKRUV, H.
TAPP
SPRINT
SPRINT
TAPP
SEGER
KILREMSKIVA
KIL

SKRUV

KNIV

HOLK
MUTTER
MUTTER
LAGER
KUGGHJUL
SPRINT
SPRINT
HOLK

KEDJA

LANK
SPANNARE
MUTTER
RULLE
PLATTA
SKRUV
BRICKA
MUTTER
SKRUV

RAM
DRAGBOM
SLATTERVALS
INMATARSKRUV
DRYMET
KUGGHJUL
ANORDNING
SKRUV
KOPPL.FLANS

39






VIITE KPL  VAR. OSA

REF ST DEL NR
48 1
49 1
50 10 733085
51 8
52 4
53 12
54 1 733084
55 2 CEUCFC208
56 8
57 1 53021
58 1 53077
59 1 53076
60 1 53022
61 1
62 6
63 6
64 3
65 72
66 1
67 3
68 1
69 1 733056
70 1
71 1 733077
72 1 733071
73 3
74 2 CEG60072RS
75 1
76 1
77 1 733076
78 1
79 1 53078
80 2
81 1 733160
82 1 733161
83 1
1 530190
KETJUNKIR.KOOTTU
3 733059
KOOTTU STODHJUL BAK
1 733070
HIHNANKIR.KOOTTU
1 733015

KOOTTU SLATTERVALS KPL

KOQODI NIMI

KODE RUNKO

6*60 JOUSISOKKA

10*70 JOUSISOKKA
KANNATINLEVY

M 12 ALUSLEVY

M 12*25 KUUSIORUUVI

M 12 IL MUTTERI
SAATOLEVY

UCFC 208 LAIPPALAAKERI

M 12*45 KUUSIORUUVI
KIRISTYSPUIKKO
ANTURA OIKEA
ANTURA VASEN
KIRISTYSVASTIN

M 10*30 LUKKORUUVI

M 12*35 KUUSIORUUVI

M 12 IL MUTTERI

M 10*30 KUUSIORUUVI

M 16 ALUSLAATTA

4*25 SAKSISOKKA

M 12 ALUSLAATTA

M 12 KUUSIOMUTTTERI
RAAPELEVY

M 12 IL MUTTERI
KIRISTYSTANKO

vm. -89- HIHNANKIR.RUNKO

M 10 KUUSIOMUTTERI

6007 2 RS1 LAAKERI

48/36*2.5 ALUSLEVY

A 35*1.5 SEGER
KIRISTYSRULLA

A 25*1.20 SEGER

vm. -90- VASTATERA

M 10 ALUSLEVY
RASVAPUTK
HOLKKI

M6 RASVANIPPA

SPANNARE KPL
TAKAPYORA

SPANNARE KPL
NIITTOKELA

BENAMNING
RAM

SPRINT
SPRINT
BARARE
BRICKA
SKRUV
MUTTER
JUST.PLAT
LAGER
SKRUV
SPANNPINNE
KALKMEDE H.
KALKMEDE V.
SPANNMOTST.
SKRUV
SKRUV
MUTTER
SKRUV
BRICKA
SAXSPRINT
BRICKA
MUTTER
SKRAPA
MUTTER
SPANNSTANG
RAM
MUTTER
LAGER
BRICKA
SEGER
RULLE
SEGER
MOTKNIV
BRICKA
SMORJN.ROR
HOLK
SMORJN.NIPPEL

41



42



VIITE

OCOO~NOOUIAWN B

KPL
ST

PERPPNANPOWWNWRERER PP

e
g o a

NNRARPRRRPWOWRRRRREPRPRRRO®

VAR. OSA
DEL NR

53087
733105
733079
733127
733614
733125
733126
53104
53103
BMOC72
284508

733057
733057

733139
733161
733160
720373

733097

KOQODI
KODE

SPC 3/DP 315

M. 1

M. 2

C-72

UCP 209

M 14 IL

M 14

M 14*55

M 8*8 DIN915
M 6

M 16 IL

M 16*60 8.8
M 12*35 8.8
M 12

M 12 IL

M 16*55 8.8
M 6*8
S=1.5mm
S=1.5mm
9*14*70

A 45*1.75
54/45*1

M 12

M 12*60
UCFC 209
A 45*1.75
M. 2

M 14

M 14*45
M 14*50

NIMI BENAMNING

SILPPULAIKKA HACKSKIVA
TERALAIKKA HACKSIVA
TERAL.AKSELI AXEL
HIHNAPYORA RAMSKIVA
LAAKERISUOJA SKYDD
KIERRELAATTA GANGSKIVA
SILPPUTERA HACKBETT
PUHALLUSLAPPU FLAKTVINGE
TER.KIINN.RAUTA BETTFASTE
TER.KIINN.RAUTA BETTFASTE
KIILAHIHNA KILREM
PUKKILAAKERI LAGER
MUTTERI MUTTER
ALUSLAATTA BRICKA
KUUSIORUUVI SKRUV
PIDATINRUUVI SKRUV
RASVANIPPA SMORNIPPEL
MUTTERI MUTTER
KUUSIORUUVI SKRUV
LUKKORUUVI SKRUV
ALUSLAATTA BRICKA
MUTTERI MUTTER
KUUSIORUUVI SKRUV
KUUSIOKOLORUUVISKRUV
SAATOLEVY PLAT
SAATOLEVY PLAT
KIILA KIL
SEGER SEGER
SAATOPRIKKA BRICKA
LITOSHOLKKI HOLK
RASVAPUTKI SMORJN.ROR
KUUSIOMUTTERI MUTTER
PIDATINRUUVI SKRUV
LAIPPALAAKERI LAGER
SEGER SEGER
LAAKERISUOJA SKYDD
JOUSIALUSLEVY  BRICKA
KUUSIORUUVI SKRUV
KUUSIORUUVI SKRUV

43



6, 8L L,

Lol

44



VIITE
REF

OCOO~NOUITAWNPE

KPL
ST

w

(&)

OOORNDMRANRRPARRPRREPNRPRRPRPRRPRRPRUIUORPRERNRPRRPEPNNRPRPRPNRPRENARRREPNRPOW®WR

VAR. OSA
DEL NR

733890
733899

733980
733981
733320

733601
733095

53195
53123

733971
733972
53081
53072
53063

51187
733836
53074
733804

51143
51185
D14108
51159

D40116
D40115
S1624

D40117

KOQODI
KODE

2*20
M 8*25

M12 IL
M 8*20
M 8

M 8 IL

3*25

M 8*25

vm. -90-
vm. -90-
vm. -90-
M 10*25
M 10 IL

vm. -90-

@4

4*12/18

M 10*110
M 10 IL

M 10
4000/8 mm
3500/8 mm
ESNO 1 8*32
8 mm 1741
M 6

M 12

M 6*20
M6 IL

NIMI

SUOJAT
PUHALLUSTORVI
KAUKOSAATO

KANSIPELTI
SARANATAPPI
SAKSISOKKA
LUKKORUUVI
VESIPULLOTELINE
PYSTYTUKI
KETJUNSUOJA
KUUSIOMUTTERI
KUUSIORUUVI
ALUSLAATTA
MUTTERI
KAMMION YLAOSA
SARANATAPPI
SAKSISOKKA
HIHNANSUOJA
AKSELINSUOJA
KUUSIORUUVI
YLAKAARI
ALAKAARI
TORVEN ALAOSA
TORVEN YLAOSA
LIPPA
LUKKORUUVI
MUTTERI

VIPU PITEMPI
TORVEN KYNSI
ANKKURILEVY
VAIJ.KIINN.AKSELI
NUTTURANEULA
KAUKOS. RUNKO
VIPU LYHEMPI
PURIST.JOUSI
KINNITYSHAHLO
KUUSIORUUVI
MUTTERI
ALUSLEVY
VAIJERI

VAIJERI

KIINNIKE
H-LIITIN
KUUSIOMUTTERI
KUUSIOMUTTERI
KUUSIORUUVI
MUTTERI

BENAMNING
SKYDDS
BLASROR
FJARRSTYRN.

SKYDDPAT
TAPP
SAXSPRINT
SKRUV
STALLNING
STOD
SKYDD
MUTTER
SKRUV
BRICKA
MUTTER
UPPE DEL
TAPP
SAXSPRINT
SKYDD
SKYDD
SKRUV
OVRE BAGE
NEDRE BAGE
NEDRE DEL
OVRE DEL
SKRAM
SKRUV
MUTTER
SPAK LANGRE
KLO

PLAT

AXEL
HARNAL
RAM

SPAK KORTARE
FJADER
FASTKARA
SKRUV
MUTTER
BRICKA
VAJER
VAJER
FASTE
H-KOPPLING
MUTTER
MUTTER
SKRUV
MUTTER

45



6, 8L L,

Lol

46



VIITE
REF

45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
KOOT.

KOOT.

KPL VAR. OSA
ST DEL NR
3 D40118
2

2

2 733979
2 733351
2 733353
4

2 53109
2

2 D56139
6

6

8

2

1

2

4

1

1

1 125036
1 53204
2

2

1

1 53198
1 53199
2

3

1

1 53191
3

3

1 53193
1

1

1

1 53186
LASSKRUV KPL

2 733970
FLASKASTALL
1 51180

1 733800

KOQODI
KODE

1128
M 12
M 10

M8 IL

M 12

M6X16
M6 IL
M6

M 10*30
M 8*60
M 8*16
M 8 IL

M8
M8X16
M6X25

M6X16
M6 IL
108X25X10

M10 IL
M10

M10X35
M10X30
M12 IL

NIMI
SUOJAT
PUHALLUSTORVI
KAUKOSAATO

KUULAKIINNIKE
ALUSLAATTA
KUUSIOMUTTERI
TAKATUKI
KAHVA
JOUSIHAKA
KUUSIOMUTTERI
PURISTINRUUVI
KUUSIOMUTTERI
LUKKO
URARUUVI
KUUSIOMUTTERI
KORIALUSLEVY
KUUSIOMUTTERI
KUUSIOMUTTERI
KUUSIORUUVI
KUUSIORUUVI
KUUSIORUUVI
MUTTERI

PIDIN

LEVY
ALUSLAATTA
KUUSIORUUVI
KUUSIORUUVI
LUKITUSKOUKKU
SARANA HITS.
KUUSIORUUVI
KUUSIOMUTTERI
MUOVIKAHVA
VIPU
KUUSIOMUTTERI
ALUSLEVY
VALIVIPU
KUUSIORUUVI
KUUSIORUUVI
KUUSIOMUTTERI
LUKITUSRUUVI

PULLOTELINE

BENAMNING
SKYDSS
BLASROR
FJARRSTYRN.

FASTE
BRICKA
MUTTER
STOD BAKRE
SKAFT
HAKE
MUTTER
SKRUV
MUTTER
LAS
SKRUV
MUTTER
BRICKA
MUTTER
MUTTER
SKRUV
SKRUV
SKRUV
MUTTER
HALLARE
PLAT
BRICKA
SKRUV
SKRUV
LASKROK
GANGJARN
SKRUV
MUTTER
PLASTHANDTAG
HAVSTANG
MUTTER
BRICKA

MELLANHAVSTANG

SKRUV
SKRUV
MUTTER

KAUKOSAATOLAITE FJARRST.KPL

TORVI KOOTTU

BLASROR KPL

47



48



VIITE
REF

OCoO~NOOUOUITRA,WN B

el ol
AWNPFO

LYHYT
15
PITKA
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35

KPL  VAR. OSA
ST DEL NR

=

582201

D40505
D40506

733765
733768
D40504
51159
58222
58221
125028
D40502
58228
ILLFORSELL.
CP4475
ILLFORSELL.
CP4476
CP4477
CP4479

RPRR AR AR RPRRPRRRREPRPRPRRWWRE

D40497
D40563

D40001739

NNRARARRARRWWNNNNER R

KOQODI
KODE

(TUPLA)

LINAK LA30-150
LINAK LA22-150
M 10 IL

M 10*60 8.8

AM 10*120 8.8

10A

JV3

M 5*16
M5 IL
M 6*16
M6 IL
M 5*30
M5IL
M 4*16

M 10
M 10*60
M 10
M 10
M 10
M 10*30

NIMI
SAHKOOHJAUS

SAHKOOHJ. KOOT.

BENAMNING
ELETRISK
FJARRSTYRN.

EL.FJARRST.KPL

TORV.KAANTOSYLINT. CYLINDER
LIPAN KAANTOSYLINT.CYLINDER

MUTTERI
KUUSIORUUVI
KUUSIORUUVI
KOROKEHOLKKI

JAKORAS. PELTILEVY

JAKORASIA
KIINNITYSLAATTA
LAATIKON PETI
LAATIKKO
SULAKE
SULAKEPESA
SYOTTOJOHDIN

SYOTTOJOHDIN

PAAJOHDIN LYHYT
PAAJOHDIN PITKA

MUTTER
SKRUV
SKRUV
HOLK
FASTE
FORDEL.LADA
FASTORA
FASTE
LADA
SAKRING
SAKR.DASA

HUVUDLEDN.
HUVUDLEDN.

KAYTTOJOHDIN PITKADRIFTLEDN.

3-NAP. KEINUKYTKIN BRYTARE

JOYSTICK
URARUUVI
KUUSIOMUTTERI
KUUSIORUUVI
MUTTERI
URARUUVI
MUTTERI
URARUUVI
PISTOR.7-NAP.
ALUSLEVY
KUUSIORUUVI
KUUSIOMUTTERI
ALUSLEVY
KUUSIOMUTTERI
KUUSIORUUVI

JOYSTICK
SKRUV
MUTTER
SKRUV
MUTTER
SKRUV
MUTTER
SKRUV
VAGGUTTAG
BRICKA
SKRUV
MUTTER
BRICKA
MUTTER
SKRUV

49



50




VIITE
REF

OCOoO~NOUITAWNBE

KPL
ST

ONRPRRRPNNRPNNROOUONNRPRAMRRRRRRE

VAR. OSA
DEL NR

733730
733735
733742
733780
733789
733787

733788
733785

53206

53208

53210
53207
53209

KOQODI
KODE

3 mm

M 10 IL
M 10*25
M 6*25
M 6
M6 IL

M8X25
M8 IL

M8X35
M8 IL

4mm
9/28*3

NIMI

KARHOTINLEVY

KARHOTINL. KOOT
KARHOTUSLEVY

LISALEVY
TUKIVARSI

KIINNITYSLAATTA
SARANA-AKSELI
NUTTURANEULA

SAATOTAPPI
KIINNITYSTAPPI
MUTTERI
KUUSIORUUVI
LUKKORUUVI
ALUSLEVY
MUTTERI

PUTKI VASEN
KUUSIORUUVI

KUUSIOMUTTERI

PRESSU VASEN
KUUSIORUUVI
KUUSIMUTTERI
JATKOTAPPI
PUTKI OIKEA
PRESSU OIKEA

HIUSNEULASOKKA

KORILAATTA M8

BENAMNING
STRANGPLAT

STRANGPL.KPL
STRANGPLAT
PLATTA

ARM

PLATTA
AXEL

NAL

TAPP

TAPP
MUTTER
SKRUV
SKRUV
BRICKA
MUTTER
ROR V.
SKRUV
MUTTER
PRESENNING V.
SKRUV
MUTTER
TAPP

ROR H.

PRESSENNING H.

HARNAL
BRICKA

51



52




VIITE
REF

OCOO~NOUITAWN P

KPL
ST

15
15

DO WWWW

VAR. OSA
DEL NR

531030

733125
733126
53104
53103

KOQODI
KODE

M 12*35 8.8
M 12 IL

M 12

M. 1

M. 1
M. 2
M 12*60
M 12
M 16*60
M 16

NIME
LISATERAT

LISATERAT TAYD.

LUKKORUUVI
MUTTERI
ALUSLAATTA
SILPPUTERA
PUHALLUSLAPPU
KIINN.RAUTA
KIINN.RAUTA
PIDATINRUUVI
KUUSIOMUTTERI
KUUSIORUUVI
KUUSIOMUTTERI

BENAMNING
EXT.HACKBETT

EXT.HACKBETT
SKRUV
MUTTER
BRICKA
HACKBETT
BLASPLATTA
BETTFASTE
BETTFASTE
SKRUV
MUTTER
SKRUV
MUTTER

53



o4



VIITE KPL  VAR. OSA

REF ST DEL NR
1 1 9410316
HYDRAULISYLINTERI
2 1 D30198
3 1 D30197
4 2
5 2
1 512390

KOQODI
KODE

CYLINDER
3-51238
3-51239
6*40

5025

NIMI
HYDRAULINEN
KOUKUNSIIRTO

LETKU LYHYT
LETK PITKA
JOUSISOKKA
SUOJAHATTU
HYDR.KOUKUN-
SIIRTO

BENAMNING
HYDRAULISK
OVERFORING
AV KROK

SLANG KORT
SLANG LANG
SPRINT

SKYDD
HYDR.OVER-
FORING AV KROK

95



56




VIITE KPL  VAR. OSA
REF ST DEL NR
1 53138
KOOT.  NOSHJUL KPL
1 1 322156
TUKIPYORALLE TAPP
2 1
3 1 733706
4 1/P 600240
5 4 655225
KIINN.RUUVIT  SKRUV
6 1/P 600230
7 1/P 655226
8 1/P 655224
9 1/P 655227
ALUSLEVY BRICKA
10 1/P 600220
11 4/P
12 1/P 600270
13 1/P 600250
14 1/P 600260
15 1/P 6555227
16 1 D41070
17 1 D41090
18 1 D41080
19 1 53132
20 2
21 1 53135
22 1 942744
23 1
24 1 53136
25 1 53128

KOQODI
KODE

3 mm

52*30*7 PBS

30205

30204
M 12*1.5IL

L-8 63.5/108/4
4.00-8
4.00-8/4

3*25

M8*16 DIN914

NIMI

NOKKAPYORA

JARRULLINEN

NOKKAPYORA

TAPPI

NUTTURANEULA

SAATOPUTKI
STEFA
PYOR.

LAAKERI

LAAKERIALUSLEVY

NAPA
LAAKERIN

LAAKERI
MUTTERI
ALUSLEVY
LUKKOLEVY

LUKITUSMUTTERI

NAVANSUOJA
LEVYPYORA
SISARENGAS

ULKORENGAS

KAYTTOVIPU
JOUSISOKKA

SARANA-AKSELI
PURISTUSJOUSI
PIDATINRUUVI

VETOPUIKKO
JARRUTAPPI

BENAMNING
NOSHJUL
MED BROMS

NAL
ROR
STEFA

LAGER
BRICKA
NAV

LAGER
MUTTER
BRICKA
LASRING
MUTTER
NAVKAPSEL
FALG
SLANG
DACK

ARM
SPRINT
AXEL
FJADER
SKRUV
DRAGN.ST
TAPP

o7



58




VIITE KPL
REF ST
1 3
2 2/P
3 2/P
4 1/P
5 4/P
KIIN.RUUVIT
6 1/P
7

8 1/P
9

10 1/P
12 1/P
13 1/P
14 1/P
15 1/P
16 3
17 1/P
18 3

VAR. OSA
DEL NR

53089

600240
A09999
SKRUV
600230

655224

600220

600270
600250
600260
6555227
D30010
D30009
655230

733059

KOOTTU HJUL BAKRE

733012

KOQODI
KODE

M 12*120 8.8
M 12 IL
52*30*7 PBS

30205

30204

4-3060 Juncar

5.20*10
5.20*10
4*12"

NIMI o
TAKAPYORA

PYORAN RUNKO V.
KUUSIORUUVI
MUTTERI

STEFA

PYORAN

LAAKERI
NAPA
LAAKERI

ALUSLEVY
LUKKOLEVY
LUKITUSMUTTERI
NAVANSUOJA
ULKORENGAS
SISARENGAS
LEVYPYORA

TAKAPYORA

TAYDELLINEN
PYORA KOOTTU

BENAMNING
BAKRE HJUL

ANORDNING
SKRUV
MUTTER
STEFA

LAGER
NAV
LAGER

BRICKA
LASRING
MUTTER
NAVKAPSEL
DACK
SLANG
FALG

FULLSTANDIG
HJUL

59



60




VIITE
REF

1
2
3

KPL
ST

1
2
6

VAR. OSA
DEL NR

53149
53163

KOQODI
KODE

M 10 IL

NIMI
HIOMAKIVI

HIOMAKIVI
JOUSI
KUUSIOMUTTERI

BENAMNING
SLIPSTEN

SLIPSTEN
FJADER
MUTTER

61



0¢

T.
LL
[4A

14
ve
69
8¢
[474
G¢
1474

434
434
434
434

LE
v
6€
6€
6€
6€
LS
6€
v
v
6€
LE
LE
LE
LE
6€
LS
v
LE
LS
i}
JAS
i}
i}
i)
LS
i}
LS
qg
LS
qS
LS
i}
LS
i}
LS
i)
LS
i}

3dis
39Vvd
vais
NAIS

080¢€€L
6.0€€EL
L10EEL
9/0€€L
TL0EEL
0.0€€L
650€€L
650€€EL
LS0€EL
LS0€EL
950€€L
950€€L
ov0EEL
9€0geL
9T0EEL
GT0EEL
¢T0EEL
€.E0¢.
€.E02.
1225899
1225899
0€24999
122899
9224999
G22sae9
22999
¥2¢2ss9
042009
042009
092009
092009
052009
052009
02009
0v2009
0€2009
0€2009
022009
022009

dN 1131
ON 14dVvd
OdN 13d
OdN VSO

14
(0]
T

0¢
44
LT
T¢
14
G9
0L
69
aT
L
172
18
8T
144

Ly

144
T¢
6T
14
9T
€c
|14
FAS

o O
M~NAN A0

434
434
434
434

Ly
LY
Ly
LY
6V
14
6V
6V
6V
14
14
14
1474
14
14
14
g€
GE
65
LE
6S
Q9
el
Qg
=i
Qa9
474
€€
€e
14
1S
1474

TS
1474
LS
1474
474
6€

adIs
49Vvd
vais
NAIS

82289
[AAASE
T1228s
0¢¢8s
0TZES
602€S
80¢ES
L0ZES
90cEeS
v0cZeS
66T€ES
86TES
S6TES
€6TES
T6TES
98TES
8.TES
GLTES
€9TES
TSTES
6v1ES
8ETES
9ETES
GETES
CETES
8¢TES
€CIEeS
TCTES
0cTES
60T€ES
v0TES
YOTES
0€0TES
€0TES
€0TES
680€S
L80€S
180€S
8.0€S

dN 114l
ON 14dvd
OdN 13d
O4dN VSO

89
65
LC
T¢
ec

09
LS

T€

9¢

434
434
434
434

6€
6€
474
ev
474
LE
6¢
6€
6¢
LE
LE
GE
€g
GE
g€
474
ey
174
Ly
474
474
LE
el
g€
LE
1474
LE
LE
5174
Ly
€e
€e
€e
€e
€€
€e
€€
€e
€e

3dIs
39Vvd
vais
NAIS

LL0€S

9.0€S

v.0€S

¢L0€S

€90€S9

090€S

2c0es

T20€S
06T0€S
LTOES

STOES

18215
06€CTS
0cecTs
8¢C1S

L8TIS

G8TTS

08TTS

6GTTS

6ST1S

EVTIS

¢c01S
9GT¢¢ceE
LTT0CE
¥Sr00€
805G18¢
GTT09T
00cZ1eT
9€05¢T
8204¢T
00°0052'602°0
00°0009°29¢0
00°0005°¢9¢°0
00'500€°29¢°0
00°200c¢'c9c’0
00°20€ET29¢0
00°20€0°¢92°0
00°00S.v¥C0
00'90TLCETO

dN 114l
ON 14dvd
OdN 13d
OdN VSO



6€

LT
8T
9T
X4

€T
0¢
14
ov
LE
8¢
6¢
o€

9T
LT
LC
T
[4>
0T
8T
6T
LT

434
434
434
434

ey
€€
i)
i)
i)
Ly
Ly
Ly
Ly
Ly
Ly
1614
174
1414
174
Ly
LE
€9
€§
LS
JAS
GE
g€
174
g€
Ly
Ly
Ly

34ISs
39Vvd
vdais
NAIS

¥291s
§20¢sd
060Tvd
0801¥d
0,0TvA
€950vad
90S0vd
S0sovd
¥0S0vd
¢050vad
L6v0vd
8Ttovd
LTT0vA
9Ttova
STT0vd
6€.7000vA
8€85€d
86T0€d
L670€d
oTooed
6000€d
06T0000€d
9TTIvTd
80Tv1d
SO0Tv1d
6.vvdO
8.¥¥dD
LLyydD

dN 113L
ON 14dVvd
OdN 13d
OdN VSO

9T
qT
ot

cc
€T
0¢
6T
8T
1
ot
4"

8v
6T
8T

NOMNMNMOL NS

434
434
434
434

Ly
Ly
v
LS
qg
€g
€€
€e
€e
€€
€€
€€
€e
€€
€e
€€
€e
1174
1974
1%
1474
ey
1%
LE
LE
LE
1174
197
1474
197
14
174
6V
174
6V
174
Ly
Ly
6V

3dIs
39Vvd
vdais
NAIS

9.vvdO
S.vvdO
¢/O0Nd
66660V
Yv.Lcv6
9TE0TY6
TEE00EL'8
STE00'T'L'8
69200°L'9'8
€0200'59'8
¢EE00°¢’'S'8
TIT10°L'v'8
1/9600°T'v'8
L6T00CT'8
EYT006'0'8
8¢1006'0'8
¥2000°6'0'8
186¢€€L
086€€.
6.6€€L
CL6EEL
TL6EEL
0.6€€L
GG6€EEL
TS6EEL
0T6EEL
668€€L
068€€.
9€8¢EEL
¥08€EEL
008€€L
68.LEEL
88.E€.
18LEEL
G8.EEL
08.€E€EL
89/€€.
G9/€€L
CVLEEL

dN T113L
ON 14Vvd
O4dN 13d
OdN VSO

NO <IN~ TN

GE

434
434
434
434

6v
$14
i)
1474
474
LE
GE
14
174
174
LE
GE
g€
GE
g€
GE
g€
1474
6€
1474
6€
LE
1474
1474
TS
1474
TS
1474
1474
1474
1474
LE
LE
LE
LE
LE
6€
6€
LE

34ISs
39Vvd
vais
NAIS

GELEEL
0€LEEL
90.€€L
V19€€EL
T09€EL
009€€L
QovEEL
€GeeeL
TSEEEL
oceeeL
TOEEEL
G8ceeL
08c¢eEL
9/¢2€€l
TGceEEL
124X
oveeeL
TOTEEL
T9TEEL
09T€€L
09T€€L
TSTEEL
6ETEEL
LCTEEL
9c1eEL
9¢TEEL
GCIEEL
STARX YA
S0TEEL
L60€EL
S60€€EL
€60€€L
060€€EL
880¢€¢€.
L80€EL
980¢€€L
G80¢€€EL
¥80€EL
€80¢€€EL

dN 113L
ON 14dVvd
OdN 13d
OdN VSO



